. fJ} Juitis of the e
8 The equation of the normal 1o the a cirve f '{;Jr; P I

(o) y=—= TR st ]
M) y== | et

(¢) y=—z-1-2 " i i

(d) none of the above : ‘

. 5

f). If Lthe average value of y = I ij on Lhe interval [1}'| !j| is 4 then f I [;:;}d;; =

(a) 5

(h) 10

(¢} 15 )

e n . {d)f 20 [,
ﬂ!- f[(?{r] ig an anlinderivative of (@) then (%)

(1) 2zf(=?) | LA
(b) 2,-; (i:)

() f L)t

If,m‘*‘l .

st of f(r) = - in

e 1 [

.a-"";":"




, R
-y . _n , _:r_'= s
o Sias Wt S S Y

0 the m\!un ol & thal. sabificas Hio definition of liv 5 —m-,u Bl

(b 310
() VI

(o |
15, The clogeat. poink on Hhe cneve i = 7 o the pinl (2, IRE 1
1D, e o
() (0,0) | e ky

ﬁrﬂ}(%"fg) | | ) ) S T R " o
f’*l} (‘%l.{] TR i r

2% P i Lhes a—-coordinnte of Lho jane ticle ia
F' A particle moves on Lo coeve i . ) o el
j ﬁ:lu:qgmg b rade of 2 eonfaee Lhen the padic Lo distanee freny Che ovigin o6 © = 2

:i:muqutp nh Lhe rate of | i

r

rry
-

‘*f-r‘!:.mr 7 i

Il'ith y,-u : s e



‘1 5 5% d , then find £(4)

@0 ®w (€)30 (d)40

int l[
Mﬂ“‘ﬁu&nunuﬂhetangcuthn:tuthamvﬂx +xy =2y’ =ﬂatthﬂpﬂ { }h
@y=x ®y=x+] ()y=2x—1 (dy=2-x

== PR Here isithe eraph of £(x ). Use it to answer the questions 24 up to 26.
f.f

lfr(la- )

X
% = 1

515 | rﬁ%_Find-é‘iq interval or intervals on which fis i INcreasing,
B @2a) . Gls) 2] @ [21]

25- Find ﬂ;: values of ¥ where Shas a local minimum

@ b)-1 ()0 (d)1




